
 

111

�0 %���� �M�@3U
��	
 C�!�� 5�0 � %����	 � %�?� �
D*E�
 ,�.�=M��� ���J��� 2��������� &=U� :� %���	
 U
�@

 ����J�+ tEF�GH 5v N����w+ 5 ;f�
� 
��& 2�<�
!F
�tI�J>GH �̀ A� =L=L N��O. 6v =8�G��� :
� mF

 Z={�� ^�
]��� ;f��A+�P 
��& 2�w�G�J� ,m�����P�
�=L=��� N��O1� m��A�� :
��� :�w�)

 �+� � �=A���� *�w�� ^�
]��� �U�=I 2�-./� �;0
¡6 × 6 zL�� :�w�) 5 :
��� mF Z={�� ��. 
��F=��

N� �=+ 5 
J>GP 6 :
��� *�� ��� ��
L 6 × 5 �2( �(
 �N� �=+ 6 
J>GP 6 :
��� *�� ��� ��
L 6 × 6 �
 6 × 5 zL�� ��� 6 × 1 zL�� �F�}( 
G� ,m�����P�

�6 × 6 zL�� ��� `�1�
�m���� :U
��	
 6�@

�6 :
��� mF Z={�� zL�� :�w�( :�� �����	
 �
<
?�	

�=8�G� ,N�� C��+ :U
��	
 -. �� �58���	
 %=
��	


 Z={�� =!O�L ��( 3!� ������� a�O��� q>���
 mF � ��$� `+���� �2& ��(� m�&=�� `A���P

 =!O�L mF m����� `+���� 
J>� �� =!O���� �d�
�mUF$� `A���P Z={��

-?!L �����

J>GP 6 :
��� *�� �� 6 × 6 �2& 2��������� ¥�
�

 ,N� �=+ 7 
J>GP 6 :
��� *�� �fF 6 × 7 � �+& �N� �=+ 6
 :�w�( ��� 
��J� 6 × 6 zL�� �2& �!< 2�w�G�J� c�dP

�6 × 7 zL��

��U�=M�� ad� 3!� ������� ;fF 3+ �
 C<�L

�d �- ��	

8-36 �Q �� ���	
 �/ �� �� ��	


Multiplying by 6

�� �F �� �4  
�Q �� �Z �N
 ���4 ��6(	
 �0 �! M;
#7 �� 6 �� ���) �! �O �� �.�( �X�4

$M� �� ��
� �V
X ���) �̀  �=�) �8�	

]���	L ��
( �J�4 �(�	
 �Q �� �Z �N
 ���4 ��6(	
 �;
#7 �� �Q �� �5 �� �1

 ? M� �F�g
+ �! ���/
) �̀  5 �=�) �8�	
?  = 6 × 5  

$ �Q �� �Z� M��4 ���4 ���7 �� �� K	L �� ���) �! ��
( �J�4 ,
 ,jL 30 = 6 × 5

. öÈ ú Ç óá ú ó  õ õ ö ú ó  óæ öÑ ó ó õ ú Ç ö ú ó ú Ç õãÇ ú ö ú Ç ó ö ú ö   ?6 × 6 �� �>�4 �S�� �1

6
×6

36

 ?  =  6  + 6 + 6 + 6 + 6 + 6 = 6 × 6
   6  × 1  +  6 × 5  =  

36  =  6  +  30  =  

30 =  6  +  6  +  6  +  6  +  6
24 18 12

30

$ �%�( �&
CL �� 6X�/ ?6 × 7 �v�4
P �Q
>�L �%�P
[ �!n�& �B �] �/ ,6 × 6 �v�4
P �i�/ �� �5 
jL  z� �] �� �� k��7 �� �4
6 
��*
)5 Q�5 ���
� �5�+>! �/
<n& ,��P

36 = 6 × 6
42 = 6 + 36 = 6 × 7 70



 

112

$ %���M����	
 C�!�� 5�0 � %����	 � %�?� �
D*E�
N (*K

 ,6 �� 3!!����+ 3!wL�� 3!P ~=>�� �2& 2��������� �./�
��O ���G��� zL��G�� 2�
w!F

����A� 2& 3!� ������� 3+ 4�I6�
 ^�
]���P … ,… ,… ,… ,18 ,12 ,6

 ;f� |=#�� ,�����<& m��� Z={�� N�=!O�L
�N��J��P _9��w��� �
��� m� :�
�$� ad� �2&

t1v 3�=����
 �;0 ,� �=A���� *�w�� ^�
]���P 6 × 6 2��������� 4�A�

�6 × 6 zL�� ��� ���1�� 6 × 3 zL�� 2�+
]�J�

 I�GO� �!A!��/O�� ��=Q$� ^ �
]����
�fG+ �̀ < mF ��>8 3 3+ 3!�F�>�+

���=Q& 6

t2v 3�=����
 :��� :�
�& 3+ :
� �̀ < Z={P 2��������� ^�U�

 ,tZv mF 2 :
��� mF� t&v mF 6 :
��� mF N/ �H
���
�N�� �=]��� :��� mF zL�G�� 2�O�A��

 :��� mF :�
�$� 4!L=L ��� 
 h<&
 3!� ������� 3+ 4�I� �;0 ,N�� �=]���

 ���+
]��� m��� �U�=M�� ��( ��=!�� 2&
� �̀ 1�� ��( ��8���

t3v 3�=����
�fG+ �̀ < mF N�#�=F 9 `��& :
� 2��������� 
w�

 �
��� �& � �=A���� *�w�� r�=I 3� � �+( `��& 6
 :�w�) �O��G+ �=H& �U�=I _& �& N���J��P _9��w���

�Z={�� zL��

 ,(1v 3�=���� �̀ . �U�=MP 3!� ������� = h<�
 �d� mF �f+�
]��� �!��A+( ��( = �#&�

�3�=����

t4v 3�=����
 ��� � \< �=��+ \/+�� 3�=!O���� mF �2& 2��������� �./�
� �̀ 1�� ��
w!� 3�=H�� 3!�+���� 3!P 2����U� c�d� ,8

 � �=A���� *�w�� ^�
]��� �!��A+( ��( = �#&
� �̀ 1�� ��� �
��J��� 8 :
���

�y ��h$ �B �+ �1�
42 = 6 × 7 24  = 6 × 4 6 = 6 × 1

48  = 6 × 8 30 = 6 × 5 12 = 6 × 2
54  = 6 × 9 36  = 6 × 6 18 = 6 × 3

�I �� �+�4
$ �%�( �&
CL �m 6< �� ?6 × 6 �v�4
P �� �>�(�	 3 �/ �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �O
� �.�( �Z
 �%�)�[ �+ �� �B �� 1

$ �B �+ �1� 2
  �  

24
30
36
42

k;
C �� �. �!

4
5
6
7

k;@ �̀ �� �!

6 ×

  �
6
7
8
9

k;@ �̀ �� �!
12
14
16
18

k;
C �� �. �!

2 ×

 ? M;
�
��/ � �B �C �-� �Q �� �5 �� �1 , MB �C �-� 6 �� ��
� �� �F�	 3
?u × � �O� � × 6 �� �7 �1� 
+ �]D��: k�
(�)�( �Z
� kB�F ���4  4

? �� �� ��	
 �����F �+ �5 �V
� �CL �I�Q �0 �! �p �� ���4 �I� �%�)�[ �+ �� �S�� �1

w54 �� �J �� �8	
 K	L �����P�
x ? M;
���
I 6 �=�) �8�	 ��
( �J�4 
 ,��� �* M;
>�F�" �! �Q�5 �� �1 5  

 36 = 18 + 18 =  6 × 3 + 6 × 3 = 6 + 6 + 6 + 6 + 6 + 6 = 6 × 6 ,��P

ð Ñ 54 =6 × 9

.  Ê  Ï  18 = 3 × 6

8 × 6
 �71� 6� 
 ,1�(3! ,@!
5 0�4-
7�	
 �/ IN

.5 0!

71


